AN 4 R ;ﬁ
T X% Bl B WO AL —— i =
EXil]
AGERRE LY LT REL FAEBRIET 22,13 t=4cm| m2 1,020 1,017.5
REFREIET. (ffiE4F t=5cm m2 690 690.4
WM t=2cm m2 328 327.5
WETLT  SEEREBUET As t=15cmPL T m2 1,020 1,017.5
WOE R T Asik m3 72 71.6
TARFAH S BT [ RET wE+ m3 20 15.0
MRET g+ m3 10 10.9
RHERT e+ m3 3 2.9
LT REL FEBHIET 27,13 t=4em| m2 2,480 2,482.2
e T RC-40 t=15cm m2 25 25.4
REEEETFET.  #iEsf t=bcm m2 2,440 2,444.2
WET  HEUIM T As t=15cmPAF m 46 46.0
5By T m3 0.09 0.09
SLERTEUE T As t=15cmBL T m2 2,480 2,482.2
S EUE T 8RS sy m3 8 7.8
BOEHE T Asi% m3 199 198.6
Conik m3 8 7.8
BEACHE & 1 03 T A Ml (R 300 | m 37 37.0
HEARBET() 300 p5 e 2 2
AEKHEL(1) 300 X600 = 3 3
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LKERKES

% e RS W X K O B oK | i
T
PR T A 13 1TX 2TLX 3LTX 4T X 51X
FfE T t=4cm A= 202.30 + 208.30 + 226.10 + 190.40 190.40 1,017.5 | m2
iipey 1TK 2TX 3TIX 4T 51X
REEHEIE T t=5cm A= 136.90 + 142.80 + 160.70 + 125.00 125.00 690.4 | m2
Ly NS 2TX 3L 4T X 5 L%
t=2cm A= 65.50 + 65.50 + 65.50 + 65.50 65.50 3275 | m2
HET
As 1TX 2T 3L 4T 5 LK
SRERRBUET t=15cmBL F A= 202.30 + 208.30 + 226.10 + 190.40 190.40 1,017.5 | m2
AR
AREE T Asik V= 690.40 ) X 0.08 55.23
TR
V= 327.50 ) x  0.05 16.38
(8cm) (5cm)
V= 55.23 + 16.38 71.6 | m3
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TRREES

% B Hiks W X K O 5 o
JER LT
L= 12.0 + 12.0 130 + 052 X 2 4+ 083 X 3 =4050
R T WY+ V= 40.5 X 0.37 15.0 | m3
R T g+ V= 40.5 X 0.27 10.9 m3
B IER T e+ V= 150 - 10.9 0.9 2.9 m3
AT
g BEREE 1TTK 2T X 3T 4T X 5T Ul L
FET t=4cm A= ( 693.60 + 695.10 + 693.60 + 695.10 + 696.90 )  +  (0.6x42.4) -
LAY 1L 2T X 31X 4T X 51X
A= (202.30 + 208.30 + 226.10 + 190.40 + 190.40 ) 2,482.2 | m2
s L
PR T t=15cm | 0.6X42.4 25.4 | m2
e | afkgE 1LK 2TIX 3LIX 4TIX 5LIX T
REEIET t=5cm A= ( 628.20 + 629.70 + 628.20 + 629.70 + 631.50 ) - 12.7 -
KRS 1TX 2T X 3K 4T X 5T.X
A= ( 136.90 + 142.80 + 160.70 + 125.00 + 125.00 ) 2,444.2 | m2
=T
As R 1TKX 2TX 3LIX 4TIX 5L
LD T t=15cmPA T L= ( 1480 + 14.70  + + 1650 ) -
b A 1TX 2T X 3TX 4T X 5T.X
L= ( + + + ) 46.0 | m
TG IRALLSY T 0.09 m3
As MR 1TK 2T X 3TIX 4TX 5TX AR T
SHEENR B T t=15cmBL T A= ( 693.60 + 695.10 + 693.60 + 695.10 + 696.90 )  +  (0.6X42.4) -
ARy 1T 2L 3L 4T X 5L
A= (20230 + 208.30 + 226.10 + 190.40 -+ 190.40 ) 2,482.2 | m2
s BUE T EREIEY) V= 0.21 X 12.0 0.21 X 12.0 + 0.21 X 13.0 7.8 m3
gy e
R T Asi} v="( 2482.20 0.08 198.6 | m3
Conj% V= 7.8 7.8 m3
Bk T
T
LT 300 L= 12.0 + 12.0 13.0 37.0 m
A1) 300 N= 1 + 1 2.0 e
A T(2) 300X 600 N= 1 + 1 1 3.0 J
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